< 00, > (M)

<opyp, > ()

Ratio

<d @> (rad)
o
=
a1

o
[N

...............................................

o
N

32 1 o0 1 2 3
TP n (PCA to beamline)

o
[N

< o cot(y) >
o
=
a1

o
N

32 1 o0 1 2 3
TP n (PCA to beamline)

—=— DQM_V0001_R000000001__Global__cmssw__RECO
—e— DQM_V0001_R000000001__Global__mkFitOriginal__RECO
—— DQM_V0001_R000000001__Global__mkFitNew__RECO

100r

®
o
I

o
=]
I

N
o
I

20 ool

37 1 0 1 72 3
TP n (PCA to beamline)

5¢ : T
SR 1 111030
32_ ...... 1 - , .......
¢S 10 41
SRR
of— ---------- | s . .......
et A
P S % /IR0 e,
—3;— ------ P I 11 19 e
e LI g
et d UL L
S 1| -
P U | | 1 3 1 0 P
F : ! T :
-3 -2 -1 0 1 2 3

TP n (PCA- to beamline)

= 100 - y THT

-3 -2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


